It will rain today.” The use of "will’ in this sentence indicates:

1 don't usually eat three meals a day. but used to it.
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ns incorrectly, he got 12 out of 20 (12/2

‘ 79°F Mostly cloudy
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pick the correct sentence:

it will rain today.” The use of 'will' in this sentence indical
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Research in the workplace indicates that people work for many reasons __
.
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Fill in the blank

| regret Mary about the wedding

wWhich of the following statements i1s Incorred tly ph!.\‘\\‘d\
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which of the following statements IS incorrectly phrase

Fill in the blank
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n/e6o 21 Fill in the blank

It was a relief that after months of dry weather, we had rain last night

select the right preposition to fill in the blank
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80°F Mostly cloudy
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22 select the right preposition to fill in the blank:

NS ANSWERS
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select your favourite holiday destination the cities given.
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5> Which 3 numbers should fill in the empty boxes in the third puzzle

A 43,1553

B 3,189

C 37.59,1

D 12,28,46

E 8 64,31
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According to the passage, why are interviews unreliable?

cure the rehiability of Nnterviews
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According to the text, how could an employer ensure the reliability of interviews?
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According to the survey, most employers do which of the following:
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the following which were found to be thhe most favoured hv recruvy
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What is the theme of this passage?

5 A The recrultment procedures | awed t
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10/ 60 11 Choose the statement below that can be formed correctly using the fa

r James/ want/ appear/ the exam.

ymes wants 1o appear the exan

Focus on the use of the articles: "a, an, the" in the given statemen

Scanned with CamScanner


https://v3.camscanner.com/user/download

"-
INOAD =

00:30:03

TOTAL TiME
i /ADO Focus on the use of the articles: "a, an, the" in the given stateme
options.
10/ 60
I. If we interfere with a nature, we must expect consegquences.
re I1. If we interfere with the nature, we must expect consequences.

in which of these sentences is the use of the apostrophe co
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Look at the following verbs and choose the one that's different
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p John is exactly half his mother's age. The tot

A

al of their ages is 60. When John reaches his mother’s
current age, she will be 60 years old. How old is John now?

\

ldentify two words from the

options below that are ¢|
-
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‘ 79% Mostly

cloudy
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Look at the following verbs and choose the one that's different from the others
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¢ sioncanleadto pleasure, but only reality leads to happiness.
D Thepleasure of an imaginary happiness is less important than the realty of the llusion of pleanure
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